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Probability

(A)

0                 0 < P(A) < 1                  1          

S 

               S  = {1,2,3,4,5,6 

1    2   3 4 5 6 

T

H

S =   (H, 1), (H, 2)... (H, 6)
         (T, 1), (T, 2)... (T, 6)
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S = {(H, H, H) (H, H, T) (H, T, H) (H, T, T) (T, H, H) (T, H, T) (T, T, H) (T, T, T)}

n f A 
A f/n  

P (A) = f /n

              (A B)                                                      (A B) A'

A B 

P A B     =    P A     +    P B    -   P A B

P A =  0.65,   P B   =  0.55,   P A B     =  0.30, ,   P A B

P A =  0.75,   P B   =  0.60,   P A B     =  0.85,    P A B

H

T

H

T

(H, H, H)

(H, H, T)

(H, T, H)

(H, T, T)
(T, H, H)
(T, H, T)

(T, T, H)
(T, T, T)

H

T

H
T
H

T
H
T
H

T
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A B 

                             A B   =  

          P A B     =  0   

                                                                                                         P A B   =    P A     +    P B   

A B S
P A =  0.45,   P B   =  0.35, P A B     

A B

P A B = P A         P B    

A B S 

P A =  0.40,   P B   =  0.30, 

i.  P A B     

ii.  P A B     

A B
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A  B  S  A
 B P(B/A) 

                                     P(B/A) =    P (A B)  
                                                         P(A)        

(A) (B)

                                                                                                                                                                                  
                          S                      80                     

                              50              40                                                                        

      A                        30    20     20                       B                                        

                                                             10                                                                                  

i. 

P A    =     50 

                    80 

 

ii. 

P B    =     40 
                  80 

 

iii. 

P  A B    =     20 
                              80 

iv. 

P B/A    =     20 
50 

 

v. 

vi 
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X 

X 0 1 2 

P(x) 1/4 2/4 1/4 1 

{ E X /

E X /  =   x p(x)

V X / 2

                    V X / 2 =  x2 p(x)  (  x p(x) ) 2 

X

Normal Distribution

X P(x) X. P(x) X2. P(x)

0  

1  

2  
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Z 

                                      Z =  ( X    

i. 

ii. 

iii. 

iv. 

v. 

vi. 
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